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(1) x*+2>x8+ 15
(2) y=-x2+1;
(3) x - 2<0;
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A =b* - dac
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(2) FEAABCH, /C=90°, a=9, C=15;
(3) c

4)
A LA=25°
/B=35°
ZC=120°
B - C
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(1) sin30° — 3tg30° + 2c0s30° =
(2) cos®45° +sin?45° =

cos40°

(3) tg48" + SnE0°

—ctg42® =
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(1) sin(90° —30°) =cos60°s
(2) MPsina =0.5, ;H4, EHAsin30°=0.5,
sea =053
(3) HAZABHAITES, REMERPHEISLE,
RAURBHESFRMTEK.
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6. MAKRE—FIFHAENHE, 5
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RiE;s AB®cosC + CA®cosB= BC®sinB+sinC,
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1. RBHAKEMEYME. (204)
(1) /BRIRANBFTEM(-3,4),
(2) /B=150°
(3) AABCth, AB=BC, L A=30°
(4) ANABCW, a=2, b=2T3, c=4,

2. HErneE. (205))

(1) cos(90° - 40°) =sin40°; ( ’ )
(2)-sin(180° - 40°) = sind0°;  ( )
(3) cos(180°~ B)r=cosfB; «( )
(4) ctg(180°~30°)=ctg180°-—ctg30°. ( )
3. RfE. (10%)

sin90° — cos150° o
D tg45° +sin120°
) 1g30° *cos135° — sin60°

ctg120°+sin150°

4, HHRAKc?=a?+b% - 2abcosC, ( 204} )

5. SRiE:FEAABCHh, b acosC - s?nC . (154

~ acosB sinB
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ZEMKA ) R75°, LR ARG°, ERE EF10K
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(MinM, BREAABCYH , AB=4, AC=8, BC L&
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